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Finding Slope from 2 Points

Y2 Y Ex: Find the slo i
. _ : pe of the line that passes through the
Slope Formula: M Xy = X| points (-4, -3) and (7, -7)
Special Cases: me /= (=3) _ % _ |t
o “ ' ' T7-(9) " e |
2> slope = 0 g slope is undefined

AN

4 Slope-Intercept Form

Y =mx +b Ex: Graphg:%x—!

m = sk & b= uy-interc yrintercept is -1
Sope b yrntercept slope = 2, (so from the

g—m‘(ercép‘r go up 2 € right 3)

Graphing from Slope-Intercept Form:

. Make a point at the y-intercept.
2. Use the slope (%) to make more points.

\ 3. Connect the points to form a line.

/
4 Standard Form 2

+ =
Aj\(, B E g are gregers & A is not negative Ex: Graph 2x - 3y =-6
x-intercept: 2x - 3(0) = -6 HEEEEEEPJEN
Graphing Using Intercepts: 2(?;0')6 > x=-3
I. Find the x-intercept by substituting O for y. ' )
2. Find the yrintercept by substituting O for x. Yrintercept: 23(3): -3@9 S '4’9 _,
3. Make a point at each intercept and then connect ©, 2)

the points to form a line.

.

-
/g = mx—x) Point-Slope Form

Ex: Write the equation of the line passing through the

m =slope & (x, ) is a point on the graph points (-1, 2) and (3, 4) in point-slope form. Then
convert it to slope-intercept and standard form.
Converting Point-Slope Form to Slope-Intercept Form: k-2 2 _ 1
I. Distribute m. - - &2
|
2. Move y, to the other side of the equation. Point-Slope Form: | y — 2 = 7 (x + )
Converting Slope-Intercept Form to Standard Form: Convert to Slope-Intercept Form:
[ IS
. Bring the x term to the left. P2 Y-2=5x+5 D] Y=5x+3
2. I; the:‘ebareh f r|ac‘rions in the ;,quatiqn, multiply everything Convert to Standard Form:
througn by the least common aenominator. N (_ 7, X+y= %) sh-2y-s
3. If A is negative, multiply everything through by -I.
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Parallel & Perpendicular Lines

Parallel Lines have the same sibpe but different y-intercepts.

Perpendicular Lines have opposite recjprocal slopes. Ex: Write the equation of the line that is paralel

to the line y = 3x - 5 and passes through
the point (-2, 4).

Writing Equations of Parallel Lines: y=3x-5
. Find the slope of the original line by first converting it to slope- m = 3, 50 slope of paralel fine is 3, too
intercept form if it is in Standard Form. The slope of the line 2> y-4=3x+72)
parallel will have that same slope. > y-U4=3x+0
2. Use the given point along with the slope you just found to write > |y=3x+0

the equation of the line in point-slope form.

3. Convert the point-slope form equation to slope-intercept form.
P P a P P Ex: Write the equation of the line that is

" . . o perpendicular to the line x - 3y = -6 and
Writing Equations of Perpendicular Lines: passes through the point (-, 1)
l. Find the slope of the original line. The slope of the line X-3y=-6 > -3y=x-6

perpendicular will have the opposite (negative) reciprocal slope.

2> y= —éx +?2
2. Use the given point along with the slope you just found to write

m =z, so slope of perpendicular line is -3

|
the equation of the line in point-slope form. 39 Y- =3+ )
3. Convert the point-slope form equation to slope-intercept form. > y-1=3x-3
2> Jy=-3x-12

/ Linear Inequalities \

. Convert the linear inequality in slope-intercept form. Be sure Ex: -3x-2y>8
the y is on the left and remember to flip the inequality sign if
you multiply or divide by a negative. +g;< 6
2. Graph the line as if it is an equation, except use a dotted line 2Y>3x+8
if the inequality sign is < or >. If the sign is < or 2, use d 222
regular solid line. y < _%x n
|
3. Shade above the line for a "greater than" inequality (> or ). ke

Shade below the line for a "less than" inequality (< or <). (For
vertical lines, shade to the right for greater than and to the
left for less than).

. R
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